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Find the cost of painting all surfaces
of a 10 m long hollow steel pipe
whose internal and external

diameters measure 15 cm and 17 cm
respectively, if the coStefpatfiting 1
cm? of the surface is Rs. 0.15. [Use =

= 22/17]
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(b) Rs. 1500 Bﬂ
(c) Rs. 15 0 .80
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In a 140 m race, Pankaj runs at a
s speed of 5/2 m/s. He gives a start of
QQ% 20 m to Arun and still defeats him

i j by 4 seconds. The speed of Arun is:
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(a) 1.75 m/s (b) 1.25 m/s

l\-@* Jorg m/s(d) 1.5 m/s
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If four-fifth of five-sixths of one-
eighth of a certain number is 4365,
what is 65% of the number?

I TH G & TH—3ed D
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(a) 36,375

(b) 53
;\944 ﬁ/, (c) 34,047 )

(d) 52,380



If x2-32x+1=0and x > 1, then
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value of is:

I x2 - 3.2x + 1 = Oaﬁ?xbl,ﬁ
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It is given that aiQR =~ AMNY and
PQ = 8 cm, ZQ= 55° and ZP = T72°.
Which of the following true?
4 7§ APQR =~ AMNY 3iR PQ = 8 cm,

/Q=55° 3R /P= 72° | fA=feRaa &
Wmﬁqmwﬁ?

(a) NY = 8 cm, LY =T2° °<
(b) NM = 8 cm, 4M=53n)°

MM=8cm, LY =53

(d) NY = 8 cm, <N=55" | ~



Two jars A and B are containing the
solutions of two liquids P and Q. The

ratio of the liquidg B and Q Fl—l‘.tl

jars A and B are 2 : 19 and 1
respectively. If 7 litres of the
solution of jar A and 4 litres of the

solution of jar B are mixed, what is
the ratio of the solutions P and Q in

the new mixture.
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G‘K If ax + by = 1 and bx + ay = PR
then the value of x (in terms of a and
b) is:
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Savitha and Parmika decided to run
a 2250 m long race on a track as
long as® the length of the race. But
Savitha gave Parmika a 396 m head
start and also allowed her to start 9
seconds before Savitha started
running. Parmika ran at 6 m per
second and Savitha caught up with
Parmika 250 seconds after Savitha
started running. What was Savitha’s
speed (in m) during the race?
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A 3200 m long cylindrical copper
wire of radius 0.3 mm is melted and
recast into a sphere (without wasting
any material). What is surface area
(in cm?) of the sphere?
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(c) 198 it (d) 256 it
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In a 120 metre race, P beats S by 6
metres. If S starts with a head start
of 7.5 metres and it is a 100 metre
race, then who wins the race and
how many metres? (Correct to 2
decimal places)
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(b)P,3.63 sYjeT
(d) P, 2.63



In ‘t’ years, the simple interest
earned on a certain amount at the

. ﬂ (
GQS?L %_% rate of 10% per annum is 5/8t of
the principal amount. If the rate of
interest is made three-fourth of 10%

PWQ" ’ RTW and the simple interest remains the
&_--'

R y 3 same, which of the following

statement is true about the changed

3_.; Q{' T 3 '—"“l value of time?
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Arun brought 50 kg of a rice at a
discount of 15% on the marked
price. For purchasing bulk quantity,
he was given 5 kg of wheat (the

marked price of which was 60% the
marked price of rice) free of cost.

Had the retailer sold both items at
SUO their marked price to his other

__E cugnmers, then approximately what

S30 VS ¢ the profit percentage that
& p the shopkeeper could earn?
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What sum will become Rs 9,826 in
18 months if the rate of interest is

2%% per annum and the interest is

compound half yearly.
9 326x[80 afy I R 21% Wy o § ek =W

2
aHqig ST & O 18 WEM H B W
3T 9,826 TUA B WAIGHI?

(a) Rs. 9,392.00

.

3
_&L (b) Rs. 9,444.00
&p

(c) Rs. 9,512.45 D
_JHRs. 9,466.55



Sourabh purchased an article for Rs.
48,000 and sold it as a loss of 12%.
With that amount, she purchased
another item and sold it at a gain of
20%. What is the overall gain or loss

+ UYsawwxs-6 in Rep

ARH A Uh T P 48,000 TUY H
EIaT 3R S 12% B ' W) 99 |
g4 WR1 9§ SEH U@ AR oy W 3R
S 20% ® AW R 99 faar| S99 g
feerT < /31 g8 72

)O (a) Rs. 2,688 loss
3 (b) Rs. 14,208 loss

L2 Rs. 2,688 gain
(d) Rs. 14,208 gain



A shopkeeper sells a chair for Rs.
2,325 after allowing a discount of
22.5% on the marked price. The
discount offered was:

% GPMER 3fbd o W 22.5% ol
gC a1 @ 91§ 2,325 1 § TG FHul
99aT 8 | Jfad 8 @ &Y?

M (b) 1,257

(c) 880 (d) 1,050




In ACAB, /CAB= 90° and AD | BC.
If AC = 24 cm, AB = 10 cm, then find

O the value of AD (in cm).
ACAB #, /CAB= 90° 3R AD | BC 2|
Q‘O Ife AC = 24 T, AB = 10 ¥, @ AD
L2 4 &1 A (A9 #) B
e 9:23 (b) 8.23
(c) 7.14 (d) 10.23
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If cosecA + cotA = aJE , then find

(a’b-1)
Q.-]-C,)L-. %q__ the value of @b+1)’
Ty . (a’b-1)
(l *Q ..]-S I cosecA + cotA EL/E’ ar @b +1)
° PT A B |
Q C"+2 C \)ﬂYcOsA (b) tanA
_‘. l £ (c) 1/sinA (d) 1/cotA
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(a) 700
(c) 500

2(b) 650

(d) 550

A man borrows Rs 4,000 from a bank
at 10% per annum simple interest
and clears the debt in three years. If
the installments paid at the end of
the first and second year to clear the
debt are Rs 1,500 and Rs 2,500,
respectively. What amount (in Rs)
should be paid at the end of the
third year to clear the debt?
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Simplify the following equation.
What is the difference between the
two values of x?

73+4132+(5x+10“‘3§5%'33+(3x*+xl =0

f=ferRaa Tiievor & WRa ST | x &
3 M1 B €9 /T IR 87

7x+4:x2+|5x+10]}-3{5% X +(3% +x] =0

(a) 8 (b) 16

(c) 5 \)m{'r
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Find the remainder when we divide
3x4-2x2+4x -1 by 2x- 1.

VeI 3x4-2x2+4x -1 2x-19
fIfoTg avd & O AP ST DIFOT |

(a) 2 (b) 3

thkTﬁ/lG (d) 15/16
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There are two circles which touch
each other externally. The radius of
the first circle with centre O is 17
cm and radius of the second circle
with centre A is 7 cm. BC is a direct
common tangent to these two
circles, where B and C are points on
the circles with centres O and A,
respectively. The length of BC is:
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(a) 24118 em&)é 119 cm

(c) 2113 cm (d) 2V117 ecm



In a circle of radius 3 cm, two chords
of length 2 cm and 3 cm lie on the
same side of a diameter. What is the

perpendicular distance between the
two chords?
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For what value of m will the system
of equations 18x - 72y + 13 = 0 and
7x - my - 17 = 0 have no solution?

m % ﬁﬂ?q’ﬁ$fﬁ({\q‘ﬂ?ﬂw 18x -
72y + 13=03R 7x -my - 17 =0 &\
YOTTGll PT DI & T8l BRN?

(/m’zs (b) 24
(c) 9 (d) 12



What is the total surface area of a
pyramid whose base is a square with
side 8 cm and height of the pyramid
is 3 cm?

e fUifie &1 o MR 8, foraar o
8 ¥ 21 Iy fife ot Tars @ o
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(a) 169 cm? (b) 121 cm?
o4 ‘/{144 cm?2  (d) 184 cxx
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ABC is an isosceles right angle
triangle. Angle ABC = 90 degree and
AB = 12 cm. What is the ratio of the
radius of the circle inscribed in it to
the radius of the circle
circumscribing triangle ABC?

ABC U% GHfgarg T9I0T st 8| &IoT
ABC = 90 f&ift 3R AB = 12 & 3|
s ABC # sifdd ga @1 frear &
s ABC @ uRa: sifda ga @ fBoan
H ST T 87

(a) 642 : 32
A 2-42:2

(c) 6-3J2 :1J2

(d) 6-312:6\2




If 2x - l= 7, x # 0, then what is the

X
6 4 Byl _
/— value of Sxﬁ oX - : ?
8x° -25x° -1

kl 9“3"""‘?— ﬂﬁ2x—l=7,x¢0,ﬁT
~ N\ X

=38¢
:’i —+25:x;—11 P79 AT &2
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The value of
tan®(22°-0) - tan(0 + 68°)
- cosec’(68° + 0) + cot(22°- ) ia:
3(cot’52° - gec’38°)
+2(cosec’28° - tan’62°)
(a) O (b) -1

/ﬁ) 1 (d) 1/5
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A sells an article to B at 20% profit,
B sells it to C at 15% loss. C sells it
to D at 25% profit. If the difference
between the profit of A and C is Rs.
132 and B bought the article for Rs.
X, then what is the value of x?

A U& I& B & 20% oM W 991 8| B
39 15% BfY W C & J9aT 8] C N
25% O T D & 99T 8| A A 3R C
® AN P d1d BT AR 132 . 8 AR B T
q% I x ©. § WGl ©, A x B G 47

14
F\L (a) 2,820 (b) 3,060

/ (c) 2,940 \yﬂ,s-s_?



